Process Observed Expected

Longitudinal =~ Longitudinal | Unpolarized Transversal
B(H — Z]/v) 19x107%  (267)7)x107%| 24x103 28x10°°
B(H — Z(2S)) 6.6x1073 (71738 x1073 | 83x107% 9.4x1073
B(H — J/¥]/p) 38x107* (46729 x107* | 47x107* 52x107*
B(H — $(2S)] /) 21x107% (14709 x1073 | 26x10% 29x1073
B(H — ¢((2S)y(2S)) 30x107%  (3373) x1073 | 3.6x107% 47x1073
BH — Y(nS)Y(mS)) | 35x107* (3.6'93)x107* | 43x107* 46x107*
BH-—Y(1S)Y(1S)) | 1.7x107% (1.7701)x107% | 20x1073 22x1073
Zboson channels
B(Z = ]/y]/p) 108 x 1077 (9573%) x 1077 | 139x 1077 16.0x 1077
B(Z = Y(nS)Y(mS)) | 39x1077  (40%93)x1077 | 49x1077 56x1077
B(Z — Y(15)Y(1S)) 1.8x107° (1.8707)x107° | 22x107% 24x10°°




